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L 2

EXAMINATION Nov/Dec 2019
Surveying - I

| Total Marks : 100]

Instructions: 1. Answer any FIVE questions with at least one question from each module.
2. Make suitable assumptions wherever necessary if required and state them
clearly. :
3. Substantiate your answers with neat sketches wherever necessary.
4. Figures to the right indicate full marks allotted to the question.
MODULE-I
Question.No.1
a) Discuss in brief the principles of surveying citing examples. (10)
b) Define traversing. Explain when you adopt a closed traverse? How corrections are (10)
applied in this case?
Question.No.2
a) What is meant by sensitivity of a bubble tube? How it can be controlled. (10)
b) With a neat lebelled diagram, define level line, MSL, horizontal line, inclined line and (10)
plumb line.
MODULE-II
Question No.3

a) Table below shows observed bearings during a traverse. Identify the stations if affected (10)
by local attraction. Correct them if affected:

LINE FB BB
AB N 65°45'E S66° 10'W
BC S 63° 05’ N62° 55'W
CD N39° 45'E S39°10'W
DE N15°12'W 815°12'E
b) Describe with a neat sketch how inaccessible points are located using plane table. (10)
QuestionNo.4
a) Write a short notes on the following: (10)
i) Orientation by back sighting.
i1) Errors and mistakes in surveying
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b) What do you understand by the following terms: (10)
i) Representative fraction
ii) Scale
ii1) Tie line
iv) Check line

MODULE- 111
Question No. 5
a) Two poinfs A and B are 1000m apart across a valley. Reciprocal leveling was carried  (14)
out and the details are shown in Table below: Calculate the true difference of level

Level at Readings on
A - B
A 1.995 3.620
B 0.800 2.110

Between A and B and the refraction error if any. Assume that the error in the collimation
adjustments of the level is -0.006m in 100m.

b) What is meant by balancing back sight and fore sight? Why it is required. (06)

Question No.6
a) The following consecutive reading were taken with a dumpy level: 5.21, 4.72, (12)
5.12,7.42,8.81,5.63,7.88,6.74,9.73 and 10.1 . The level was shifted after 4" , 6" and 9"
readings. The reduced level of first point was 78m. rule out a page of your answer book
as a level field book and fill the table and find RL s of all points. Apply usual checks.
b) Write a note on errors in trigonometric leveling. ’
(08)
MODULE-1V
Question. No. 7

a) Explain various methods of indirect contouring. (10)

b) Derive expression for trapezoidal rule to calculate area. How this rule is different from (10)
Simpson’s rule.

Question.No.8

a) Differentiate between transit rule and Bowditch’s rule. How will you balance a traverse (10)
using these rules?

b) Write short notes on: (10)
i) Latitude and departure
i) Planimeter
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